=LPDB

3UDFRZQIN 5RINiDG SURI QDG]Z 5RVyi $GDP 7\J

AN AN
> 6RFIRIRJLD HGXNDFIL Z  SURI QDG]Z .
T SRVyi $GDP = 30 z OHIRG\ XFJHQLD VIC L
= —NIc I VIXGIRZDQLD uZ SURI
[a) =|
= DICFLD Z W\ELH JGDIQ\P QDG]Z SRVyi $GDP =
% $.6/ &
6“ 1DICFID Z IW\ELH
x WUDG\F\NQ\P Z\DlLZ
%) UHV]ID 1DICt JGDIQH =
INJRGQLX JDICFLD
PLQ
7\G] 7\G] 7N
OHIRG\ XFJHQLD VIC L OHIRG\ XFJHQLD VIC L 6HPLQDUXP G\SIRPRZH SURI QDG]Z 5RVyi $GDP $.6/ -
VIXGLRZDQLD uZ SURI VIXGIRZDQLD uZ SURI : i ’ - o= —¢_a
QDGTZ SRy HoDP % QDGTZ SRy HoDP % DICFID Z V\VIHPIH JGDIQ\P = 7<*2<1,8 =$-8&,$ GR
> %1 / & %1 / &
T %1/ = %1/ =
§ =DICFID Z W\ELH JGDIQ\P =DICFID Z W\ELH JGDIQ\P
N 7\6]
6RFIRIRJID RIyIQD Z  SU
RI QDG]Z SRVyi $GDP
%1/ z
=DICFLD Z W\EIH JGDIQ\P
7\G] 7N
OHIRG\ XFJHQLD VLC L VIXGLRZDQLD SURI OHIRG\ XFJHQLD VLC L VIXGLRZDQLD SURI
QDG]Z SRVyi $GDP =% 32/ QDG]Z SRVyi$GDP  32// =
/= =DICFID Z W\ELH JGDIQ\P
=DICFLD Z IRUPLH IN\G\F\IQH!
AN AN
OHIRG\ XFJHQLD VIC L OHIRG\ XFJHQLD VIC L
VIXGIRZDQLD uZ SURI VIXGLRZDQLD uZ SURI
QDG]Z SRVyi $GDP QDG]Z SRVyi $GDP
%1 / & %1 / %l / & %1 /
8 =DICFLD Z W\EIH JGDIQ\P =DICFLD Z W\EIH JGDIQ\P
%
T
7\G] 7\G]
OHIRG\ | [OHIRG\
XFTHQID VIC| |XFHQLD VIC
L L
VIXGLRZDQL | |VIXGLRZDQL
D 4z SUWRI| |D 4z SURI
QDG]Z QDG]Z
SRVyh SRVyh
$GDP $GDP
%1 / %l /
& %1 | |& %1
/ z / z
% 7\G] 7\J
E 6RFIRIRJID RIYIQD Z SURI QDG]Z 5SRVyi $GDP 3RGVIDZ\ VRFIRIRJLL Z SURI QDG]Z
[a) %1 / - S5RVyi $GDP = $.6/ z
,& =DICFLD Z W\EIH JGDIQ\P ]DIACFLD z WU\_ELH VIDFIRQDUQ\P
T SR]RVIDiH JDICFLD Z I\ELH JGDIQ\P




3UDFRZQIN 5RINiDG SURI QDG]Z 5RVyi $GDP 7\J

=LPDB

7\J

— GRFIRIRID RIYQD Z SIRI QDG]Z
3 SRV $GDP %1/ -
=DICFID Z IW\EIH ]GDIQ\P
=
)
o
©
7N

o BRFIRIRILD HGXNDFIL Z SIRI QDG]

36 -

5RVyi $GDP =
=DICFID Z W\ELH JGDIQ\P




